Bri

Brio's Open Round Rail Top Fix Timber is now available as a Face
Fix hanger making it an ideal internal system for residential and
commercial applications of timber panels with exposed
hangers and rail.

Open Round Rail Timber Face Fix 100 hangers are 304 stainless
steel with precision bearings.

Track System: Open Round Rail Timber Face Fix100
For Individual Panels:

Max Panel Height 3000mm

Max Panel Width 2000mm

Max Panel Weight 100kg

Panel Thickness 35-40mm

Packs include 2 hangers, doorstops, guide, handle, brackets
and fixings

Pack No. Finish

ORF100 Stainless Steel
ORF100PR PVD Black
Track: 1000R

Material Stainless Steel

Standard lengths  2000mm  2500mm  3000mm  4000mm
Finishes Stainless Steel and PVD Black
(except 4000mm)

Guides:
Stainless precision bearing 106E/94
Nylon spring loaded guide 108N/814

Channels:
Polypropylene 94P Black
Aluminium 94PPA Aluminium Support & Polypropylene

814 Aluminium Rail
Finish Aluminium - Mill or Clear Anodised
Standard lengths  2000mm  3000mm  4000mm  6000mm

Support Bracket:

Support bracket  100F-RB or 100F-RBPR

Brio, part of the Allegion family of brands.

Open Round Rail Timber Face Fix 100

For Top Hung Straight Sliding Panels 100kg

&

No. 1000R No. 100F-RB
ROUND RAIL SUPPORT BRACKET
No. 100-LS No. 100-RS No. 106E/94

SOFT STOP LEFT SOFT STOP RIGHT GUIDE

b ¢

No. 24P No. 814 No. 108N/814
CHANNEL RAIL GUIDE

<0

ISSUE 3 DATA SHEET B95



Bri

26.5

Open Round Rail Timber Face Fix 100
For Top Hung Straight Sliding Panels 100kg

DOOR PREPARATION

HANGERS (INSIDE FACE OF DOOR SHOWN)

150.0——= 150.0 —=
HANGER 1000R i
T T
[ |
50.0 ! !
| [
S . &
[ |
@40X4 .
93.5 | l
50.0 : ;
| [
| |
I\I
ROUND TIMBER HANDLE
@50
535T
. ROUND
TIMBER
40.0 3.2 HANDLE
115
L9500 MIN
OPTIONAL GUIDES
1
5357 A -
ROUND N No. 94P_| |
TIMBER CHANNEL {
HANDLE I
I
T l
I No. 106E/94
PANEL 2 GUIDE \ 315
HEIGHT (H) L UTT] i
58 : 315 ‘\ﬁf
1
21 \\ ‘ 2‘0
—IN i
No. 106€/94
o 21 No. 24P
GUIDE CHANNEL
@25
110 FROM
.| DOOR EDGES
i & T | No.10sN/814
A, I I| |/ SPRING
i LOADED GUIDE
N, I _ ,:‘ Ir/
61 135 : | I
sLot hE
DEPTH -
N | : 2-9
LY ¥
U J
/ 1 R
e 7.5 No. 814
RAIL 10
5317 SLOT WIDTH
FLOOR
GUIDE ‘\ T i RAILLENGTH | *ADDITIONAL 100F-RB REQUIRED
— 20.0 2500 1
f 3000 2
1 e 4000 4

Brio, part of the Allegion family of brands.

ISSUE 3 DATA SHEET B95B



€ Installation Manual )

3 2000mm N e
) /450 | 450 450 | 450 ! 27 il
| | | S 5
| MM, mm,_  mm, mm, | LA / ')'mc
—-“Iml":r—'—'_'———i-—- —__———‘ ——————— 9-3——-—_——-&—11-':;»—- / @ S\
; il : 7y M (&) = Il
— 100 £ :
I H
gl : 0
] I ;
. . (H = amy %
I : M10x55 (x 4)
i (- bolts for 35-40mm door || ©
5 ﬁ 5-
: M10x60 (x4) )
- bolts for 40-45mm door |-
H M8x90(x5)
1gmm: 14 ST4 2x25(x8
M8x60 (x 5) / " []
i Q> \\
i
1 M8x30 (x 5) 28(x2) (x2) x1) (x1)
3 (X2)
g_
3‘ 3
@
g
3)_‘_
(X2) o)
>
= A
@ & | g
c 1
Q© |




(x2)




S

(x

]
l
< (3

(x1)
(x1)

ST4.2x25 (x 2)
@8 (x2)

o]

o
(x2)

| —

ém:j}
M10x55 (x 4)

bolts for 35-40mm door

M8x90(x6)

4)
m door

4)) )}

(X2)

= M10x60 (x
bolts for40-45m

M8x60 (x 6)
M8x30 (x 6)

450
. mm‘;

|

>

mm

450

<&

Installation Manual

mm .

>

450

2500mm

450
. mm

mm .

1 ' f i
Sl et e e T e S X T
o

450

=¥

—]rob

ARSI

v

~

=




0

(X2)
(X4)
@@

[
lo
o
]
15




